EARAZROREIERT — 2 N—XBISY —F 20175108318 (k) 17EIZHE2H

KW o x> T Y IR2E\

(xwlw | lmEmml - v 6) o s

[AE4£] 1 % :600,000 @ ~ 23 :150,000 0§

3 & :60,000 H

437&:36,000H  5&:

24,000 M

B\ ®RBE mEBR Mk ME BF (&) 4L (&%) | BBIEG | EOF |SIEH | AR | HE | NG FIR) / BE / £EHS
— . R :34. ~4-4- . — ABEL (BEE)
il mvs=ys 4 2 e 1(3_4)5 4-4-4-1 | 401 1 (3_948) s
X:a-I>JY>y BaAVATIFAI— FREHRS
S 2 | ALE— 1:34.5 3-3-3-1 |40.3| — 3 475 | ROFEE (BEHE)
2 3 A=K F # 54.0 (NF) (-10) (#%) RK>=x
R:TG727>8— B:74-WHTy =E R
o = =33 B2 | LimREd 1:35.7 2-2-2-1 |41.6| — 2 45 |TEE (BEE)
3|55 EYYHZ /743 54.0 ®) -3) | (B J PN
L:Fh¥<71xX8 B:T52T740 KI5
. . A HiEE : 55— = $REBEX (BHE)
A | F5v 7175 B2 %4?5& 1.(315).9 5-5-5-5 | 40.6 5 (4;1) i
R:TS5vr8%—F B:TS59 091y F % BT
. 5 o2 | SHE 1:36.9 1-1-1-4 | 42.9| — 4 425 |[MTEA (BHE)
N . e 5.0 5 e | 1B
LTAY>TFyoa BT~ AR
® 1 — @B
|S=7r= 4,5,3,1,2
Aol=5"= 4,5,3,1,2
3a—+— 4,5,3,1,2
431—F— (1,3,5),4,2
[ RN
B 1 140/ 74K 1-3 170 B E 1-3 680 &R 1-3-5 300F4
# B 1 1204 =5 110 B H =8 840 EE 1-3-5 1,420M
3 250M 3-5 230M

ABICOVWTRDTEEERROODE. TR LIV,




